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Review Questions from Chapter 6 of Managing Financial Risk

(Circle the best answer.)

1. An interest rate swap usually involves:





   (a) swapping debt maturities.

   (b) swapping fixed interest rate payments for floating interest rate payments.

   (c) swapping interest rate tax liabilities

   (d) swapping debt principal payments.

2. Usually, interest rate swaps are:






    (a) done directly between the two counterparties.

    (b) arranged by government regulatory agencies.

    (c)
arranged by financial institutions.

    (d)
arranged by the World Bank.

 3. In an interest rate swap, the firm wishing floating-rate debt:


    (a)
issues fixed rate and is obligated to make fixed-rate payments to its bondholders only if floating-rate payments are received from the other counterparty.

    (b) issues fixed-rate debt and is obligated to make fixed-rate payments to its bondholders regardless of whether it receives floating-rate payments from the other counterparty.

    (c) issues floating-rate debt and is obligated to make fixed-rate payments to its bondholders regardless of whether it receives floating-rate payments from the other counterparty.

    (d) issues floating-rate debt.

4. In an interest rate swap:








    (a) there is no credit risk associated with receiving the promised interest rate payments.

    (b) the swap dealer faces no credit risk; only the counterparties are exposed.

    (c) counterparty credit risk has been assumed by the swap

          dealer.

    (d) the swap dealer assumes the risk of each counterparty defaulting on its respective principal payments.

5. An interest rate swap is:








   (a) a loan from a commercial bank.

   (b) a financial transaction where two borrowers exchange interest payments on their respective debts.

   (c) an exchange of dividend payments.

   (d)a swap of debt covenant terms.

6. Swaptions are:








   (a) options on futures.

   (b) options on forwards.

   (c) swaps of options.

   (d) options on swaps.

7. One reason interest rate swaps exist is that:




   (a) interest rates are lower because it is easy to fool investors about the

        credit worthiness of a company with interest rate swaps.

   (b) industrial companies are not permitted to issue fixed-rate debt.

   (c) commercial banks are not permitted to issue     floating-rate debt.

   (d)
interest rate swaps allow interest rate risk to be separated from credit   risk.

 8 A currency swap is:








    (a)
an exchange of floating-rate payments for fixed-rate payments.

    (b)
an exchange of one currency for another currency in the spot exchange market.

    (c) an exchange of interest payments denominated in one currency for interest payments denominated in another currency.

    (d) an exchange of debt covenant terms in one country for those in another country.

9.  Circus swaps are:









    (a) basis swaps.

    (b) puttable swaps.

    (c) cap swaps.

    (d) combined interest rate and currency swaps.

10. In efficient markets, the value of an outstanding interest rate:

    (a) should always be zero.

    (b) will change as interest rates change.

    (c) will never change.

    (d) will change only if the credit standing of one of the counterparties changes.

Review Questions and Answers from John Smith’s Dialog

11. Q281 Aside from a possible lack of immediate market, what is the major complicating factor in estimating a derivative's value and risk according to John Smith?

A281     Complexity of the terms typically raises a red flag.  As you put more features into a contract, a couple of things happen:  1) when it becomes unusual, it's less liquid.  A plain vanilla interest swap is very easy to get in and out of, as many companies use plain vanilla interest rate swaps.  I'll explain what they are later on in case some of you don't know.  But as you add features to these contracts, and formulas that change the return characteristic, fewer companies deal with that, and as a result, you give up liquidity.  As they become more complex you give up liquidity.  



2) They also preclude hedge accounting.  If we can't understand how these instruments operate, it may suggest that we don't know they'll be effective in reducing risk, they may not correlate well; so that raises an issue as well.  More important from the economic side, as these contract become more complex, it's more difficult to estimate their value.  You can't estimate their value in addition to not fully understanding whether they will be effective.  You don't know whether you're getting in and out at a fair price, and we've seen that.  I guess most of you have read the SC Trust value these things, they have the models to do that.  I guess it was Gibson, didn't fully understand the value, so Banker's Trust charged them much much more than they were worth.  But what came out soon is that they forgot to tell them about their commissions, and as markets moved, what BT would do is they would go back to Gibson, and they'd say, the market moved, all of a sudden your losses increased, and they would magnify the loss and they had a strategy that as the market moved, they would let BT know that they were losing more on this derivaitive, when in fact, the market movement wasn't causing the loss, the loss was embedded in the day they did the contract.  They just didn't know how to evaluate.  So as you make these things more complex it adds another red flag.  It may not be effective, you may not be getting in at a fair price, and by the way, if I'm the only dealer in town that deals with this, you can't get out of this contract without coming to me, and guess what, it won't be cheap.  So there are a lot of difficulties that companies face as they get into these customized products. 

Jensen comment:  Probably the most serious risk of an OTC derivative is not understanding all aspects of the contract.  Exchange-traded derivatives are standardized to a point where experienced investors understand the contracts.  OTC derivatives can be customized inot complex investments that even experienced investors fail to fully understand.
12. Q629  Why is the FASB considering allocating derivative gains and losses between net income and comprehensive income?
A629  The other thing I would argue, and this is not a good logical argument, is we do treat derivatives differently than things that we record on the balance sheet, and though our standard on derivatives is a little higher, the default is mark to market-- unless.  Questions?
(Question) "Is it presumed that hedge accounting is the better form of accounting, or another way of asking this is why does a company want to achieve hedge accounting?  Is it because they believe it to be the only form of accounting, or is it the volatility issue or are there other factors?"  

         The question is why does a company want hedge accounting.  For a public company, they are viewed by the market makers on the basis of the volatility of their earnings.  They want to have stable earnings, and even if they've been taking a gain  that's unusual, they typically would rather not take the gain, than to show that volatility in their earnings.  What they'd like to do is hide the gain and bleed it in when it was appropriate, but yes it's a volatility earnings issue.  That's something FASB is thinking about a new approach, in which they marked all this stuff to market, and they've split out earnings and comprehensive incomes.  It would be the same kind of notion; in earnings you expect a lot of stability, in comprehensive incomes a lot of the other things kind of flow through.  Questions on options?
Question from Case 10-6 on Page 526 of the S&C textbook.

13.  How does recording of estimated future losses from redeeming coupons for movie tickets differ from estimated future losses from an uninsurable building in a high risk flood plain?


FOR THE COUPONS, A PROMOTION EXPENSE MUST BE CHARGED AT THE TIME OF ISSUANCE AND A COUPON REDEMPTION LIABILITY ACCOUNT MUST BE CREDITED.

FOR THE FLOOD RISK NO DISCLOSURE WHATSOEVER IS REQUIRED.

Question from Working Paper 231

14. How do Methods 1, 2, and 4 differ in terms of reported Swap Receivables and Swap Payables of both counterparties of an interest rate swap.  Assume Company A swapped variable rate interest in exchange for Company B’s fixed rate interest.  The answers that I am looking for here were called “Noterworthy Attributes in Working Paper 231.

FROM PAGE 11 OF WP 231

Several points should be noted about the above [Loan + Swap] discount (amortization) rates:

a.  The above rates are dependent on the interest rate of the underlying notional amount borrowed (e.g., a 9.5% rate on the $10 million Company A bonds in Exhibit 1).

b.  The above rates differ for both swap parties.  For example, the Year 0 rate is 8.0% for Company A and 11.0% for Company B.  Note that this difference arises even when there are no intermediary brokerage transaction fees.  This is termed a “societal asymmetry” in this paper.

c.  The main argument for the [Loan + Swap] discount (amortization) rate is that it links the swap and the underlying notional amount borrowing rate if the intent of management is primarily to change the borrowing rate of the notional loan.

d.  What Company B reports it owes Company A under the swap contract is not equal to what Company A reports as a swap receivable from Company B and vice versa.  This type of reporting asymmetry is confusing to investors.

FROM PAGE 13 OF WP 231

Several points should be noted about the above legal settlement discount (amortization) rates:

a.  The above rates are independent of the interest rate of the underlying notional amount borrowed (e.g., a 9.5% rate on the $10 million Company A bonds).

b.  The above rates are identical for both swap parties.  For example, the Year 0 rate is 24.41% for Company A and 24.41% for Company B.  Note that the rates will not be equal if the swap is brokered in such a way that the bank charges a higher transactions fee to one party than what is charged to the other party in the swap.  This method overcomes the “societal asymmetry” of reported swap receivables not being equal to reported swap debt fair values.

c.  The main argument for the legal settlement rate is that it discounts the future swap cash flows down to a present time t value that is most likely to be the exit (settlement) valuation if the swap contract is terminated prematurely.  By this it is meant that the swap receivable/payable valuation is determined from the r(t) swap receivable and p(t) payable rates specified in the swap contract.  Rates can be adjusted for term structures  as discussed later in the paper. 

d.  What Company B reports it owes Company A under the swap contract is exactly equal to what Company A reports as a swap receivable from Company B.  This type of societal symmetry is more sensible in the eyes of most investors.

Question from Part 9d of Practice Examination 1

15. 9d What has been the impact of Swaps 1 and 2 on the original $ 100 million dollar loan interest expense of the “Client”?  You can answer this question in general without knowing the entire history of LIBOR over the five-year span.
The net penalty is the difference between 9c-9d above, which is $1,750,000-$2,000,000=-$250,000 every six months.

This aggregates to -$500,000 per year added interest expense equal to ($100,000,000)(6.0%-6.5%) difference between the Swap 2 and Swap 1 fixed rates.
